[eoluyoa)
WIS 89S

:dnysajy 4

'8 e}//:dnyuoirewoju

g-ny

o
O
o]
£
(o
of
=
o
@
O
m
)
@
O
m
)
W
T
_|
=

*10|02//:dny 10 8p'u

ap‘uleg-ny

httE)://farbe.Ii.tu-berlir1L.de/DEG3/DEG3LC€)NA.TXT /.PS; oFlly vector g phi(‘f4 VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S)

(xr)zachromatic response function

L 1 _p, a=0,50, b=1,00, e=2,718282
Qab(x) In[l W] b

L =28cd/m?

(x,)=achromatic response function& modified

L 1 =0,50, b=1,00, e=2,718282
Q)<L e 1 e

e
12k

L ,=28cd/m?

%, =log[L/L ]

(X, )=achromatic response functiont modified

-Q.b(x,)=ﬁln[1+

1 I-b a=0,50, b=1,00, e=2,718282
1H/2e% /2

b=1,00

Qb(xr):ﬁln[l*' Ib

0 7]—0 69

S
1+/2¢% /2

L =28cd/n?
i

a:l‘Oé)'Szl.OOO

X =log[L/L ]

(X, )=achromatic response function& modified
1-b a=0,50, b=1,00, e=2,718282

b 1
r = e N[ 1+ —
Q)= M =

a:O.25D‘5:0‘500

w
e b=1,00
d

Q,b(xrvﬁmm

11y
12ek

L ,=28cd/m?

t
X, =log[L/L ]
DEG30-3A

Qp(X;)=achromatic response function& modified
-b a=0,50, b=1,00, e=2,718282

b 1
3T X, )= = IN[1+ ———
Q) Inv2 ! 1+2e4/2

st iy
1+/2¢ 7

L =28cd/n?

X =log[L/L ]
DEG30-4A

Qp(X;)=achromatic response functior& modified
b

3T = e N[ 1

Q%) ey n[1+

24

b a=0,50, b=1,00, e=2,718282

1
1+2¢¥ /2
' a:O,2£‘5:0‘500

14

© 1
+t————1-b
12e 7

L =28cd/n?

.
%, =log[L/L ]
DEG30-5A

Qt(xr):achromatic response functiong& modified
N
12e% 2

a=0,50, b=1,00, e=2,718282

3T QX)) In[l

.
2 b=0,50

- a=1,00""=0,707

=log[L/L ]
DEG30-6A
Q,t(xr):achromatic response functions: modified
1 a=0,50, b=1,00, e=2,718282
3T Nl e [ SRR
QX [+ 1+«72exv’a]
21

In 1+ -b
[t 12472 ]

L =28cd/n?

=log[LIL ]
DEG30-7A
DEG30-7N

TUB-test chart DEG3; Model of response functiQig(
logarithmic receptor funchor@ab(xr) and modified with

DEG30-8A

(xr)zsimilar tanh

1
3 =2l e ]
Wl " TR

10%=¢
a=0,50, b=1,00, e=2,718282
a’=aln(10)=1,151

10% /a':lox, I[a \n(lO)]:ex, la

In(10)

X , ld(,/ \n(lo)zex,

L =28cd/m?

(x,)=simi|ar tanh & modified

a=0,50, b=1,00, e=2,718282
a=aln(10)=1,151
a=

i
B X;) In 1+ — |-
Q% b oo

bl[

-b
“Inv2 :

1
S

L =28cd/m?

(X, )=similar tanh & modified

-Q.b(x,)=ﬁln[1+

1
1472104 /&

%, =log[L/L ;]

_p, @=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151

a=1,06"%1,000
=2,302, b=1,00|

0 7]—0 69

-bh
Qub(xr)—lnvz

In[1+

—__—1b
14/210% /2

L =28cd/nm?
i

X, =log[LIL ]

(X;)=similar tanh & modified

_p, @=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151

b 1
B = e N[ 1+ e
Qo) I e o

L ,=28cd/m?
;

DEG31-3A

Qp(X;)=similar tanh & modified

b
3T = N[1+ ———,
Qu(x)=oz ntt 1+¢210Xv e

}
4

%, =log[LIL ]

-b a=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151

a=1,00""-1,000
a'=2,302, b=2,00)

1
1472104 /&

I-b

L =28cd/n?

+ t
4 x.=log[L/L]
DEG31-4A

Qp(X;)=similar tanh & modified

3 “gb(x,):%ln[h

]7 a=0,50, b=1,00, e=2,718282
2 142104/

a'=aln(10)=1,151
2 3:0,295:0‘500

14

0
+e———o—]-b
14/210% /2

L =28cd/n?

DEG31-5A

Qlt(xr):similar tanh & modified

1
3T =Loinj oy
Q)= " 1o

-
-

%, =log[LIL ]

_p, @=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151

521‘0&‘5:0,707

.
2 a'=1,628, b=0,50f

In[l

%, =log[L/L ]
DEG31-6A

Qp(X;)=similar tanh & modified

3T Q%) =—2=In[1+

1 _ a=0,50, b=1,00, e=2,718282
Inv2 1472104/

a=aln(10)=1,151
24

o
147210% /2

L ,=28cd/n?

L =28cd/n?

DEG31-7A
DEG31-7N

%‘!/aand 1008’ = a05

%, =log[L/L ]
DEG31-8A

input: rgb
output:rgb

Sd'/ 1X1'¥YN01€93A/€93A-T060T20Z :uonensibal ani

ndino juud 1o Aejdsip Jo Juswainseaw pue uoleneAs 1o} uoledidde

wanit




